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Metric Conversions
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Conversions Practice

Use Unit Analysis to convert the following units of measure. Round all answers
(where applicable) to the nearest hundredth:

1. 6 miles to feet  2.33feet to yards
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9. 1000 liters to quarts 10. 3 liters to gallons
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15. 1.25 liters to fluid ounces 16. 6 feet 4 inches to cm
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Double Unit Conversions

Use Unit analysis to convert the following. Round decimal answers to the nearest
hundredth. Assume a 40-hour workweek.

1. Change $35000 per year to dollars per hour.
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2. Change $8.25 per hour to dollars per year.
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3. Change 220 feet per second to miles per hour.
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4. Change 44 miles per hour to feet per second.
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5. You plan to take a 3-mile walking tour of Rome, Italy. At home, you pace
yourself and find that you stroll 90 feet per minute. How many hours will it take
you to walk the 3 miles?
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6. James recently accepted a job at a retail store 17 miles from his house.
following information and unit analysis to answer the questions below:

Wage: $8.75 per hour

40-hour workweek

52 workweeks per year

5 days of work per week

Gas mileage: 21 miles per gallon
Gas costs: $4.26 per gallon
Average speed: 45 miles per hour

Daily round trip to work and back home: 34 miles

a. What is James’ annual salary?
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b. How much will James spend on fuel each week?
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c. How many hours will James spend commuting each week? (kows'
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7. Light travels at a speed of 3 x 10° m/s (30 million meters per second).

a. It takes light 8.3 minutes to travel from the surface of the Sun to the Earth.
What is the distance (in km) of the Earth to the Sun?
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b. The Moon is 3.8 x 10> km (380000 km) from the Earth. How many seconds pass
between the instant an astronaut on the Moon speaks and the instant his voice is
heard on Earth? (His voice travels by modulated laser beam at the speed of light).
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c. A robot vehicle is traveling on the surface of Mars while Mars and Earth are at
their closest approach (7.83 x 10’ km = 78300000 km). Suddenly, a video camera
on the robot shows a yawning crevasse dead ahead! How many minutes will it

take for an electronic signal traveling at the speed of light to go from Earth to
Mars in order to tell the robot to stop immediately?
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